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1   Introduction
In WID, the following objectives are listed for SRS antenna switching:
(1) SRS antenna port switching [RAN4]
· Specify RRM requirement for SRS antenna port switching, e.g.

· Interruption requirement

· Potential impact on other RRM requirements

In this contribution, we present our view on SRS antenna port switching interruption requirement. 
2   Discussion
Since SRS antenna switching RF requirement is only defined for FR1, we focus on the corresponding RRM interruption requirement in the following. 
We first derive the interruption in NR SA. As specified in 38.101-1, there is a guard symbol between two antenna switching resource sets, and there are up to 4 SRS antenna switching resource sets, therefore up to 3 guard symbols in between. 
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With 10us transient period before and after the first and last SRS resource, the total time for SRS is calculated in the following table for different SCSs:
	 
	SCS (kHz)

	 
	15
	30
	60

	Symbol Duration
	66.67
	33.335
	16.6675

	CP
	4.69
	2.345
	1.1725

	Total Symbol Length
	71.36
	35.68
	17.84

	transient time
	20
	20
	20

	total time
	519.52
	269.76
	144.88


Table 2‑1 Total SRS time with up to 4 antenna switch resources configured
Following the derivation of SRS carrier switching interruption, under the assumption of asynchronized carriers, the interruption length can be derived as
	
	Interruption Length (slots)

	Victim SCS (kHz)
	15
	30
	60

	15
	2
	2
	2

	30
	3
	2
	2

	60
	4
	3
	2


Table 2‑2 SRS antenna switch interruption
In EN-DC, interruption on LTE carrier is the same as victim SCS = 15kHz case in NR SA.
Proposal 1: SRS antenna switch interruption is specified as Table 2-2 for NR SA. In EN-DC, interruption on LTE carrier is the same as victim SCS = 15kHz case in NR SA.
3   Conclusion
Proposal 1: SRS antenna switch interruption is specified as the following table for NR SA. In EN-DC, interruption on LTE carrier is the same as victim SCS = 15kHz case in NR SA.
	
	Interruption Length (slots)

	Victim SCS (kHz)
	15
	30
	60

	15
	2
	2
	2

	30
	3
	2
	2

	60
	4
	3
	2



